: Alignment-1

) 220 :0+00.000000
No.
1 |sp 0+00.000000 23,774.823739|  314,278.604333 0.000000 0.000000 108.289283
2 |ka 1-1 5+8.289283 23,688.173500(  314,343.552812 0.000000 100.000000]  -200.000000 50.000000
3 [ke 1-1 7+18.289283 23,649.475406|  314,375.159573|  -200.000000 -200.000000 71.153015
4 [ke 1-2 11+9.442298 23,608.080266|  314,432.570547|  -200.000000 100.000000 0.000000 50.000000
5 [ka 1-2 13+19.442298 23,500.316116|  314,479.271348 0.000000 0.000000 144.523131
6 |ep 21+3.965429 23,544.604404|  314,616.374866
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No. =N Z IR ZIE (%) VCL VCR
1 0+00. 000000 27. 000000 1. 000000
2 15+0. 000000 30. 000000 -2.420030 50. 000000 1,461. 975676
3 21+3. 965429 27. 000000
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No_ | &% | +758 | GEMSEM | HeE | stee pioho0nR  VCL | R w1 w2
1 BP n.oonn 270349 27000
2 MOk ann.ooon 26964 a0.00n R0.0000 14620000
3 |EF 4239654 24.000 27000 -242
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